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Abstract: Relate the sum of powers of multiple primes to the sum of powers of natural numbers.  
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 I f  I  hadn' t  calcu lated the sum of  the products  of  di f ferent  pr ime powers,  I 'm 
afraid I  wou ld never  have anyth ing to  do  wi th  Eu ler ,  because knowing how magic  
works,  i t  would be very s imple.  ∀m, n, k, d, n� ∈ N ,  ∀p , p�  ∈ prime numbers ,  ∀p� = ��������� ,  ∀ ∏ p�∞��� � = ∏ �����������∞���  , 
Divisor of   ∀p� ,Such as,  p�, p�, p�, p�, p�, … … p� ,Sum of  div isors  of  ∀p� ,   S� = ∑ p����� =�����������  ,  
The rec iproca l  of  the div isor of  ∀p� ,  Such as ,   p� , p�� , p�� , p�� , p�� , … … p�� ,  
The rec iproca l  sum of  the d iv i sor  of  ∀p� ,  S�� = ∑ p������ = ������������� = ���������(����)  ,  ⇒ ∀p� = ����� = ∑ ������∑ ������� = ����������� / �������������  ,  ∏ p�∞��� � = ∏ ∑ �������∑ ��������∞��� = ∏ (�������������� / ���������������� )∞���  ,   
� � 2��

��� � = 1 + 2 + 4， � � 2��
��� � ∗ � � 3��

��� � = 1 + 2 + 3 + 4 + 6 + 9 + 12 + 18 + 36，  

� � 2��
��� � ∗ � � 3��

��� � ∗ � � 5��
��� � = 1 + 2 + 3 + 4 + 5 + 6 + 9 + 10 + 12 + 15 + 18 + 20 + 25 + 30 + 

36 + 45 + 50 + 60 + 75 + 80 + 100 + 150 + 180 + 225 + 300 + 450 + 900， 

Therefore,  the product  o f  the power  sum of  a l l  pr imes,  accord ing to  the law of  
mult ip l icat ive d is tr ibut ion,  the ir  expansions cor respond to a l l  natura l  numbers one 
by one.  n →∞ ,   ⇒  ∑ d±�∞��� = ∏ ��±(���)������±���  ∞���  ,  ∏ p�∞��� � = ∏ (�������������� / ���������������� )∞��� = ∑ ���∞���∑ ���∞��� ,   

n� →∞ ,  ⇒ ∑ d±�∞��� = ∏ ��±�(����)������±���∞���  ,  ∏ p�∞��� �∗�� = ∑ ���∞���∑ ���∞���  .  
⇒ ∑ d��∞��� = ∏ ����(����)����������∞��� = (∑ d��∞��� ) ∏ ������∗�����∗����∞��� = (∑ d��∞��� )  ∏ p�∞��� ��∗��  ,    
So,  the Euler  produc t fo rmula i s  not  accurate,  that  i s,   ∑ d��∞��� ≠ ∏ �������∞���  .   
I f  �1 − ��� ∑ d��∞��� = ∑ (2d − 1)��∞��� ,  ⇒ (∑ (2d − 1)��∞��� ) − �� ∑ d��∞��� = 0, but, ∑ (−1)���∞��� d�� = ln2. 
Therefore,  a l l  papers  quot ing the Eu ler  product  formula are problemat ic ,  and the 
R iemann con jecture re la ted to  the Euler  produc t  formula i s  wrong.  
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